Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2021

Subject Name: History of Economic Thought-I
Subject Code: 4AHO5HET1 Branch: B.A. (Economics)
Semester: 5 Date: 15/12/2021 Time: 11:00 To 02:00 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 [Ascuett aua? AR [@Ascud(l udes(l sA (14)
Q-1 Select the correct option based on the options.

1. AsH RN 58 slloldadl AUl %ets ol B 2
(A)ysla (B) sl (C) ¢4 (D) Rlwsal

What does Adam Smith considered as the generator of wealth?
(A) Capital (B) Labour (C) Land (D) Entrepreneur

2. 3[As Rstslott 1A oett 2ulEs eust Hi2ef ol Asuniell 53 Yuat 5120 & 2
A)  slotell audl sl Hior (B) wHletoll sOGUALSA cAsleld
(€) %Hlote] 2elet (D) As ULl o1&l

According to David Ricardo which is the main reason for the economic rent of land from the following?
(A) Increasing demand of Land (B) Difference of fertility in land
(C) Location of Land (D) None

3. Hlcddoll HA dcllal emell adl 3ectt adell yHA Adl B 2

(A3 ad B) 25 ad  (€c) 15 ad (D) 55 ad

According to Malthus population get doubled in........ years ?
(A) 35 Years (B) 25 Years (C) 15 Years (D) 55 Years

4. Wgldtoll 1A el HOdRell Rad sl &aul cd) us 8 2

(A)BAOBls  (B) sliustt  (€) s@ (D) cwlrx
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According to Marshal, in which field the law of diminishing return applicable ?
(A) Industrial (B) Construction (C) Agriculture (D) Commercial

5. %.06{l.sclld stioll AHRAUGA GFA MR o(lActHiel 53 YAt 53 2

(A)dcles]  (B) otstMil eolletlq] (C) AYuQl UssRe (D) BURLscl 2AQlo]

What is the suggestion of Prof. J.B.Clerk to solve the problem of labour ?
(A) Arbitration (B) Partnership in Profit (C) Full Cooperation (D) All the three

6. Ulojell s2ll vl Hidlcoll ALesell A@s ANl vaauiel Geelcl ® 2
(A) WHEs wdaustell  (B) scUQl Aall

(C) WBls el (D) URadotallet il

Which concept of Pigou came from Marshall’s consumer surplus theory?
(A) Social Economics (B) Welfare Economics (C) Industrial Economics
(D) Dynamic Economics

7. WlEs (QaRlell slasid sl dBall BlAsiUe] slAAA 3d B 2

(A)vol % [Qaun 8.  (B) AUl B. (C) ollogf 8. (D) {E B.

Scope of Economics is ......... than the scope of history of Economicthought
(A) Verywide (B)Equal (C)Small (D) Big

8. slel His stHal ol Aol sall (Qetotdl add & 2

(A) UdAs U (B) Uellclds siH  (C) AUEAN 311 (D) (A) Aal (C) ola

From the following labour is divided in .....parts by Karl Marks ?
(A) Essential Labour (B) Non Essential Labour (C) Surplus Labour (D) A and C both

9. Wl.R.ol.scttdoll HaA 3l adurll M2 &63sLeS wlcRUs B,

(A) AUAMLa (B) ed  (C) «AwAYLl (D) As Ul otel

According to J.B. Clerk competition is necessary for .............. distribution?
(A)Unequal (B) Ideal (C) Fair (D) None

10. 35Rs cllzd wlds UMl 52 ol [QUR w2 ?

(A) Acledll  (B) GaRRclesdll  (C) elld Geuleet Al (D) (A) Aa (C) il

Which new economic thought was given by Friedrich list ?
(A) Nationalism (B) Aggressive Nationalism (C) Probable Production Capacity (D) (A) and (c) both
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11. WAeAl RglcdHl ollAeuHiell 58 vl 13l B 2
(A) €35 c(sel Ulclle] scaULRL 28l 8. AL $Ra ULy o8l
(B) UEloll 3 éNal HedH o8l % ol &l

(€) Yyl &3sieell uirel waRdlds 8. (D) GURAsc AQA

Which is the defect in Prof. Pareto theory?
(A) It is not true that every person knows his welfare
(B) The objective of the firm is not always to make maximum profit
(C) Assumption of perfect competition is unrealistic
(D) Above three

12. A8l clrdell 58 (Bud Ysaal daudl urladl sl 8 2

(A) cddell HedH Bud (B) cdell dydH (SHd

(€) drquigll Recdl dfRojel A decll (D) drdell Becll (Bud 8l dzcll

Consumers are ready to pay ....price of the product ?
(A) Maximum Price of the good (B) Minimum Price of the good
(C) Utility oriented (D) Actual price of the good

13. 3sRs c{led $all una auoell drawl Aol Briad sre 8.
(A) Yol % Glioll AHadLL0Ue(l (B) HAUEd uxadounuell

(C) &sl uHadaLe{l (D) cletduae(l

For which time period Fredrik list argues protectionism?
(A) Very Long Period (B) Limited Period (C) Short Period (D) Long Period

14, MUy Scll Al edl ?

(A) el Yl (B) yls (C) vauatel (D) U2

Malthus was.....economist
(A) Neo Classical (B) Modern (C) Optimist (D) Classical

Attempt any four questions from Q-2 to Q-8:

Y-2 ol 8 Higdll 8168 uRl AR Ysllell Gk cull

Y-2 B0l Acll cos12ell [ AHstal. dofl HaleAl weudl,

Q-2 Explain J.B. Say’s law of market. State its limitations.

Y-3 Ul HlcAMoAl crcdloll Rgic axesdl. el u@au s

(14)

(14)
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Q-3 Explain Prof. Malthus theory of population. Evaluate it.

Y-4 YLASH RAA WA AR Ul Ysct Aot wal st [Qeteset vidletl [QURL AHASA.  (14)

Q-4 Explain the thought of laissez Faire Economy and Division of Labour given by Prof. Adam Smith.

-5 3(As RstSletl AictpAglal cautulR 3ideit ([Qu il Ao{l axlew s2A. (14)

Q-5 State Ricardo’s thought on international trade. Evaluate it.

U-6 YLAEsSs Hdldeoll Yuad wifEds (QuRl Axestdl. (14)
Q.6 Explain the main economic ideas of Prof. Alfred Marshall
Y-7 A2l M Ad ARl Rgict uHstcll val Aol Halell spual. (14)

Q-7 Explain optimality theory of Pareto and state its limitations.

-8 sl MiSUel dstills Amlsalle uustal. dof Yealisel 52, (14)

Q-8 Explain Karl Marks scientific socialism. Evaluate it.
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